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Section A: Topographical Map [5 marks]

1. Fig. 1 shows a 1:50,000 topographical map.
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Fig. 1

(Source: http://www.airfields-freeman.com/NY/Airfields NY_SE.htm)



http://www.airfields-freeman.com/NY/Airfields_NY_SE.htm

(a) Suggest why the houses are situated in such a manner. [1]

(b) Describe the changes in the relief, terrain and landuse that you would
experience as you walk from Point A to Point B. [4]




Section B: Structured Questions [25 marks]

2.  Fig. 2 shows the distribution of slums in urban areas around the world in 2001.
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Fig. 2

(Source: https://www.researchgate.net/figure/Percentage-of-urban-population-living-in-slums-
in-different-countries_figl 273321816)

With reference to Fig. 2, describe the distribution of slums in urban areas
around the world. [3]




3. Fig. 3 shows a slum.
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Fig. 3
(Source: https://www.statista.com/chart/10211/where-does-commuting-cost-the-most/)

Describe three characteristics of slums that can be seen in the photo in Fig. 3. [3]




4, Fig. 4 shows the average number of kilometres clocked by passenger cars per

year in Singapore.
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Fig. 4

(Source: http://www.torque.com.sg/18301/singapore-motorists-clocking-fewer-kilometres/)

(@) Describe the trend in the data shown in Fig. 4.

[2]

(b)  Explain two possible reasons for the trend in the data shown in Fig. 4.

[4]




5.  With reference to specific examples you have studied, explain two impacts of
traffic congestion. (4]




6. Fig. 5 shows a measure to manage traffic congestion in Singapore.
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Fig. 6

(Source: http://www.straitstimes.com/singapore/transport/2b-extra-cost-if-cross-island-line-
skirts-central-catchment-nature-reserve)



Describe two challenges faced implementing the measure shown in Fig. 6.

[4]
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Fig. 7 below is an online article about London’s traffic management efforts.

Traffic in London Is Still Out of Control.
Now What?

The U.K. capital was a global leader in taming
congestion 13 years ago. But the traffic has come
back, with a vengeance.

In 2003, the city of London made a bold move in an effort to tame traffic: It
instituted a congestion charge, making motorists pay a fee in order to drive into
the city core. The law was the first of its kind in a major city, and similar
schemes were later adopted in Stockholm, Milan, and other cities.

Today, 13 years later, the U.K. capital is drowning in vehicles: London has
the worst road delays in Europe. What happened?

The Limits of Congestion Charging

London cars may now be moving “slower than a horse and cart” but that doesn’t
necessarily mean the congestion charge was a failure. When introduced, it was
designed largely to slash the number of private cars driving in to central London.
In this, it has proved very successful. As the Financial Times reports, private
car use has indeed dropped off sharply.

The problem is that the space vacated by those private cars has since been filled
up (and then some) by other vehicles—specifically, private-hire cabs and online
shopping delivery vans from the likes of Uber and Amazon. The on-demand
economy is choking the city.

They weren’t a major factor in London traffic 13 years ago, and they are not
deterred by the current £11.50 ($14) daily charge to drive into the zone. Because
they count as public transit, Uber drivers don’t even pay the fee.

Fig. 7

(Source: https://www.citylab.com/solutions/2016/10/traffic-in-london-is-out-of-control-what-
happened/505454/)



https://en.wikipedia.org/wiki/London_congestion_charge
https://www.citylab.com/commute/2016/09/london-has-europes-worst-congestions-says-a-new-study/499640/
http://www.standard.co.uk/news/london/london-traffic-means-buses-are-slower-than-a-horse-and-cart-a3370316.html
https://www.ft.com/content/40774fc6-76b5-11e6-bf48-b372cdb1043a
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With reference to Fig. 7, discuss your opinion on the success of London’s
efforts to reduce traffic congestion. In 100 words or less, support your opinion
with reasons and examples. [5]

END OF PAPER



